NÁSOBENIE PRIRODZENÝCH ČÍSEL
5. ročník

A

1. Násob spamäti:


2. Násob písomne:

16 . 4 =



123 . 23 =

25 . 8 =



209 . 745 =

35 . 7 =



3 267 . 56 =

44 . 6 =



2 579 . 98 =

3. Vypočítaj roznásobením:

4. Doplň za hviezdičku chýbajúceho činiteľa:

5. (15 + 36) =



1 235

3 658

4 658

(29 + 47) . 8 =



.      *
           .       *              .       *

15. (36 – 25) =


8 645             14 632             37 264 

NÁSOBENIE PRIRODZENÝCH ČÍSEL

5. ročník

B

1. Násob spamäti:


2. Násob písomne:

17 . 3 =



321 . 32 =

24 . 9 =



305 . 672 =

34 . 6 =



4 236 . 64 =

46 . 7 =



2 365 . 89 =

3. Vypočítaj roznásobením:

4. Doplň za hviezdičku chýbajúceho činiteľa:

6 . (14 + 25) =



1 658

3 247

4 365

(32 + 45) . 9 =                                    .      *             .        *              .       *
14. (38 – 24) =


8 290             25 976             30 555

